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PART A — (10 x 2 = 20 marks)

What is homogeneous coordmate"

What do you mean by synthes1s of design?

State advantages of Bezier curves.

Why B-rep modeling approach are W1de1y followed than CSG approach"

List out various v1suahzat1on approaches.

Define key framing. :

List out four parameters which are calculated by mass property calculations.

Define assembly modeling.
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State the needs for data exchange standards.
What is GKS cell array?
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PART B — (56 x 16 = 80 marks)

11. (@ (@)  Describe various stages of design process with an example. (8)
(ii)‘ Explain a line drawing algorithm. ' 8)
" Or

() () Define clipping. Also explam the workmg of a s1mple line clipping
algorithm. : 8)

(i) Deduce windowing and viewing transformation matrix
parametrically. _ : : 8
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Explain different features of a Bezier curve with construction

details. : ’ . - (8)
Derive the transformation matrix for a Hermite curve. ¢) '
| Or
Explain in detail B-rep solid modeling approach. 8
Write notes on bicubic patches. (8
Explain Z- buffer algorithm with its operations. - (8)
Write notes on computer animation. ; 8 .
Or
Describe RGB color model with neat skvetch. B ¢))

Explain the working of simple hidden line removal algorithm.  (8)

Describe bottom up and top down assembly design with an example

for each. : : (€))
What do you mean by tolerance analysis? List different methods
and explain one of the methods in detail. = (8)
Or
Discuss about software used for mechanism simulations 8) -
Explain CAD interference checking capabilities: - (€3))
Explain IGES file format. ®)
Explain with an example how the. information are modeled in
STEP. : : )
. Or
Explain about various layers of GKS. ; (8

Write notes on communication standards. v (8)
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